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Electronics
CREMIRLY
Bachelor of Science (BSC-12/16) PHYSICS
Second Year, Examination, 2017

Time : 3 Hours Max. Marks : 30

Note : This paper is of thirty (30) marks containing three
(03) sections A, B and C. Learners are required to
attempt the questions contained in these sections
according to the detailed instructions given therein.
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Section—-A / Gvs—h

(Long Answer Type Questions) / (€78 IT<1I T2

Note : Section ‘A’ contains four (04) long answer type
questions of seven and hallf (7%) marks each.

Learners are required to answer two (02) questions
only.
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1. State and prove Maximum Power Transfer Theorem.

JRrpTH Afad IR YA B UHAN S} 39 g
BT |

2. Explain the importance of biasing in transistor

amplifier. Draw circuit diagram for fixed bias and
explain its working.

SifORex gad # ITIRAT @) Savgedr Tased | fad
TG BT 2 PR 5GP HRI-YOTel FHISY |

3. Draw the input and output characteristics of common
emitter configuration. What do you infer from these
characteristics ?
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4. Explain the working of MOSFET by its diagram. Show
the characteristics curve of its.
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Section-B / Yls—Yg
(Short Answer Type Questions) / (T ITRIT U%)
Note : Section ‘B’ contains eight (08) short answer type
questions of two and half (2%) marks each. Learners
are required to answer four (04) questions only.
dlc . @ue @ H IS (08) @Y SR W fd W 2
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1. Using Thevenin’s theorem, calculate the current in the
load R, in the given circuit.
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B
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2. What is Network ? Discuss active and passive
networks.

SiTel (Network) @7 & ? fobamefier ok sifshardliel ot
I A |
3. Explain P-N junction diode equation.
P-N WY STOTS AHIGRT TR |
4. State Kirchoff’s laws for an electrical network.
Ue faegd eas & forg el & fam aarsy |
5. Explain comparison of L and = section filters.
LT & 3R flhee” § o Hifry |

6. What is voltage multiplier ? Explain voltage quadruple.
arecdl O 1 § 2 dleed] IgIvd B TS |

7. What is voltage regulation ? Explain how a Zener
diode regulate voltage.

dioedl 99 R 8 ? WX SRS gNT dleed] add
&R @1 Yy @1 gofT B |

8. Prove that :

A+AB=A+B
Rrg @ifog fo
A+AB=A+B
Section-C / YUvs—1T
(Objective Type Questions) / (TS Je-)
Note : Section ‘C’ contains ten (10) objective type

questions of half (%) mark each. All the questions of
this section are compulsory.
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1. Dual of Thevenin’s theorem :
(@ Maximum power transfer theorem
(b) Norton’s theorem
(c) Reciprocity theorem
(d) None of these

R T A G T
(&) o1t wifdd FaRer THY
(@ T w
(@) IRwERG T
(@ | Prg T
2. The relation between triode constants is :
@ wxRe=gn=1 () n=-"
(c) M:g—m (d p=Rpxgny

TS ReRie § oo § gw
@) uxRp=gn=1 (@ p==¢

@) p==m (@ w=Rpxgny
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insulators
transformers
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Holes can exist in :

(@) metals (b)

(c) semiconductors (d)

Brew foe Ul oI © 7

(&) emqait (@)

(6) eercr® ()

Relation between hy, and hg, is:
1

a) hfp=—— b

@ g 1+, (b)
1

c) hg = d

© he=1 ©)

he 3R hg @ 49 T @
1

AH) he =—— q

@ b= @
1

M) he = <

@ be=ip @

A diode as a rectifier converts :

(@ ACintoDC

() DCintoAC

(c) varying D C current into constant D C current

(d) None of these
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(@) AC ¥ DC #

@ DC ¥ AC H
(M) DC 9RT ¥ ®i<icc DC oRT ¥

@) T A T T

6. Ina bridge rectifier, the number of diodes required is :
@ 1 (b) 2
() 3 (d 4

h 9 fReaR) ¥, fodw Srire @l amaeaear g ?
(31) 1 @ 2
(|) 3 () 4
7. Emitter follower is a transistor amplifier of the type :
(@ Common-base
(b) Common-emitter
(c) Common-collector
(d) None of these
CIfTeR Yae fobd )8 &1 UHeR BIdR 8 ?
(@) SAfTS SR
@ SwEFs SHu®
(8) St wEs
(@) 3™ 4 ®Ig
8. Boolean expression Y = AB+ BA is given if A = 1,
B=1theny=
(@ 0 (b) 1
(c) 11 (d) 10
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Y = AB + BA
Jfc A=1B=1,qdy=

@) o @
(@) 11 @ 10

9. The value of o of a transistor is :

(@& morethanl (b) lessthan 1

(c 1 (d) more than 100
forft TIRREY 89 o &1 A4 2T 2

@) 1 ¥ ST @ 1939

(@) 1 (8) 100 ¥ ST

10. Negative feedback is employed in :

(@) Oscillators (b) Rectifiers

(c) Amplifiers (d) None of these

FOTH TR H TN Bl 2

(1) <ifers o (@ fear 4

(w) wae A (@ ¥ P T
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